Unit 5 Test Review — Common Core Math 2 Honors
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Graph 1 period in the negative and positive directions.
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4. A building 180 feet tall casts a 90 foot long shadow. If a person looks down from the top of the building, what is the
measure of the angle of depression? (Assume the person’s eyes are level with the top of the building.)
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7. A personis stam?ang 30 meters from a trafﬁc Ilght If the angle of elevation from the person’s feet to the top of the
traffic light is 25 degrees, find the height of the traffic light.
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9, From the top of a fence, a person sites a lion on the ground at an ange of depression of 24 degrees. If the man and

the fence is 4.2 meters high, how far is the man frgm thelion? . :
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s The triangle. Th nece&sar}é‘ round the answer to two decimal places.
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23.  Inthe diagram below, {ind the approximate value of ea%gt labeled with a variable. Show all work.
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24, Classify each triangle by its sides and its angles:
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Find the midline.
Find the amplitude.
Find the period.
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Graph one cycle
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